
6. 7 i 4 G7 36, 32. 30, 28. 32. 33. 26 s 

(ii) 30 atoe aE Sta aTS T? 

7. RCE A INRERE (OITBE CTAT 15DI TRU 500 BI, 600 1, 600 I, 700 B1, 

26 32 34 28 30 

3.6 TET (Mode) 8 

IR 58 1, 1, 2, 4, 3, 2.3.3.3. 2. 2. 3. 3, 4,3 

3.6.1 qR T ZTS 

1,2. 1.1,2, 3,4, 2, 1, 3, 1,2,5,4, 4, 2,5, 1,4, 1,5, 2, 2, 3, 5, 4, 2,3. 1,2 

8 
I IIII 

3 4 
4 

30 

(DfT R5) 
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T-TTCCRTITBTE TRT 
HTE 6tRITATA AI zF7 AeT: 2,2, 2, 2, 3, 3, 4, 5, 6, 4,5, 4, 6, 4, 6 

IR4 7 8 6, 7, 8, 9, 14 RJIAIRA ZETR ? 

3.7 7AT (Median) 

1 TR 51 TRI : 23 -R 7 (7EA R51?) T AI RRI 16, 11, 13, 12, 17, 20, 16, 17, 11, 12, 15, 15, 11, 12, 12, 16, 16, 11, 12, 19, 17, 17, 

16+11+13+12+17+20+16+17+11+12 +15+11+12+12+16+16+11+12+19+17+17+18 
23 330 14.6 

23 
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11, 11, 11, 11, 12, 12, 12, 12, 12, 13, (15), 15, 16, 16, 16, 16, 17, 17, 17, 17, 18, 19, 20 

TIRAI8 8 35, 32, 35, 42, 34, 32, 38 4Jat GeaII 

32, 32, 34, , 35, 38, 42 

fot 4AT = 35| 

-3.2 

1. 

(i) 2, 2, 3, 3, 4, 4, 5, 5, 5, 6, 6,7, 7, 

(i) 41, 43, 41, 46, 47, 48, 41, 49, 49 

2. a1e 44 A f 1 (20 T44 feUU): 2 
4 2 4 4- 7* 3 3 

14 15 10 11 12 13 
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3. 

) 2,0, 1, 5, 3, 4, 6, 8, 12, 9, 10 

4. 17 7 BE-RTSITI sf TI1 (50 Ta fere) (AI TA UEI TU PAI &4A8 
4. 

(i) 9,7, 8, 11, 12,9, 5, 8, 12, 10,9 

28, 32,35, 21, 27, 35, 27, 42, 35, 22, 23, 35, 25, 23, 40, 24, 31 

5 

13, 16, 12, 14, 19, 12, 14, 13, 14 

6. 91 CaA 13 BTE-RIR 3I (A R5113) TE A1 KAE 6 
14, 14, 15, 14, 14, 14, 15, 14, 14, 15, 15, 14, 14 

7 

35, 15, 0, 40, 
20, 25, 45, 
10, 30, 5, 15 

8. R GTeTR 3 8. 

9. 

(i) 8, 8, 8, 8, 18, 18, 18, 18, 18 

(ii) 3, 10,10, 12, 14, 16, 16, 18,18, 25, 28 

(iii) 23, 2, 42, 6, 36, 11, 29,9, 15 

3.8 ST 8 

bar(Pictograph) 1 7YT (Bargraph) TRAU 7RRTE ETR ayATA I 
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